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1 There is there is an increase in global energy costs which
makes it more expensive to run factories and employ
manufacturing workers.

2 There is a tax cut to businesses on proprietorship income and
corporate revenue (i.e a decrease in taxes on income earned by
businesses).

3 An increase in stock market values results in an increase of
wealth for consumers, leading to an increase in demand for
final goods and services.

4 A decrease in immigration leads to both fewer workers
entering the labor force and a decrease in demand for final
goods and services.

5 More two-parent families decide to have only one member of
the household participate in the labor force, rather than both
parents.
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